MAY 1 8 2011

DATE: June 14, 2011

TO: Cape Elizabeth School Board

FROM: Mary Bruns

RE: Recommendation – Members of Certification Committee

Name	Activity	School	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Positio n? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Mary Dulac	Pond Cove Representative	PC	NA	NA	\$2300	School Board	No	No	
Mary Dulac	Polid Cove Representative		INA		JZJ00	School		110	
Kathleen Walsh	Middle School Representative	MS	NA	NA	\$2300	Board	No	No	
Charlotte Hanna	High School Representative	HS	NA	NA	\$2300	School Board	No	No	
Mark Ashe	At-Large Representative	HS	NA	NA	\$2300	School Board	No	No	
			:						
	· · · · · · · · · · · · · · · · · · ·						· · · · · ·		

DATE: 6/7/11

TO: Cape Elizabeth School Board

FROM: Tom Eismeier

RE: Recommendation for Pond Cove Co Curricular Positions

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y) *	*If yes, provide a brief description of qualifications below or on a separate sheet.
Linda Paul	K Team Leader				2800.		N	N	
Julie Nickerson	Gr. 1 Team Leader				2800.		N	N	
Linda Siegmund	Gr. 2 Team Leader				2800.		N	N	
Janet Amberger	Grade 3 Team Leader				2800.		N	N	
Erik Neilsen	Grade 4 Team Leader				2800.		N	N	
Erika Oulette- Vigneualt	IS Team Leader				2800.		N	N	
MaryJane Johnston	Allied Arts Team Leader				2800.		N	N	
Marianne Harrington	Student Support Team				1350.		N	N	
Fran Vita-Taylor	Student Support Team				1350.		N	N	
Erika Oulette- Vigneault	Student Support Team				1350.		N	N	

Debbie Butterworth	Student Support Team			1350.	N	N	
Lit. Team Rep TBD	Student Support Team	66		1350	N	N	

DATE: June 3, 2011

TO: Cape Elizabeth School Board

FROM: Jeff Thoreck – Athletic Office

RE: Recommendation for Extra Curricular Position(s)-Fall 2011

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
	Girls' Varsity					School			See Attached
Luke Krawczyk	Soccer	3	277.1	14	3,879.40	Budget	N	Y	Sheet
						School			
Don Burke	Girls' JV Soccer	3	228.2	14	3,194.80	Budget	N	N	
	Girls' Asst. Soccer								
Andy Strout	Coach	4			2,500	Boosters	N	N	
	Boys' Varsity					School			
Ben Raymond	Soccer	4	277.1	14	4,267.34	Budget	N	N	
						School			
David Croft	Boys' JV Soccer	3	228.2	14	3,194.80	Budget	N	N	
Charlie Carroll	Boys' Asst. Soccer Coach	3			2,500	Boosters	N	N	
	Girls' Cross				,	School			
Eliza Eshelman	Country	3	212.06	14	2,968.88	Budget	N	N	
	Boys' Cross					School			
Derek Veilleux	Country	3	212.06	14	2,968.88	Budget	N	N	
	Varsity Girls'					School			
Darci Holland	Field Hockey	3	277.1	14	3,879.40	Budget	N	N	
						School			
Leslie Young	JV Girls' Hockey	3	228.2	14	3,194.80	Budget	N	N	

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Megan Stanley	Asst. Field Hockey	3			2,184.00	Boosters	N	N	
Aaron Filieo	Varsity Football	3	331.5	14	4,641.00	School Budget	N	N	
Ron Kierstead	Football Assistant	3	234	14	3,276.00	School Budget	N	N	
Ryan Piper	Football Asstistant	3	117	14	3,276.00	Boosters	N	N	
Chris Mims	Football Assistant	3			3,276.00	School Budget	N	N	
Darin Davis	Football Assistant	3			3,276.00	Boosters	N	N	
Bill Hogan	Football Assistant	3			0	Volunteer	N	N	
Michael Kertes	Football Assistant	3			1,638.00	Boosters	N	N	
William McGary	Golf Co-Coach	3	105.60	14	1,478.40	School Budget	N	N	
	Golf Coach	3	105.60	14	1,478.40	School Budget	N	Y	
Rob Thompson	Girls' Volleyball	3	277.1	14	3,879.40	School Budget	N	N	
Sarah Sullivan	JV Volleyball	3			2,000	Boosters	N	N	
Mary Ellen Towne	Asst. Volleyball	3	0	0	1,000	Boosters	N	N	

FALL 2011-2012 COACHING RECOMMENDATIONS

Luke Krawczyk has spent his lifetime either playing Soccer or Coaching. His Coaching Application and References will speak for themselves. He is also a full-time employee of MPS Portland Phoenix as Asst. Premier Team Director.